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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

2800

2600

2400 -

2200 -

2000 Warning: col ['ECC’, 'FVIEC'] is missing

0 10 20 30 40 50



Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-15 0
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P3-15

BfiE) | GEBIETC (7)) | EME (EH/HK) | XS AR

07:15 294 150.0 FA| FnHB@07:15 KRENFEF (FREAEEE)
07:40 294 150.0 FA| FnHR@07:40 KREFEZF (FREEREER)
08:05 294 150. 0 FA| FHA@08:05 ARHFHIEF (KAEZSF)
09:15 294 150. 0 FE| FnHA@09:15 KENIZRF (RF{ERNSE)
10:10 294 150.0 FA| FnHR@10:10 KREFEF (REAEEE)
11:00 294 150.0 FA| FiHR@11:00 RFFEF (KAEZRS)
11:45 294 150.0 FR| FnHBe11:45 KREPEF (REERSE)
12:25 294 150.0 FA| FnHRe12:25 KREIEF (REAEESE)
13:10 294 150.0 FA| FhHB@13:10 KIENFEF (FKAEREE)
13:55 294 150.0 FA| FHA@13:55 KENFEF (KRR
14:40 294 150.0 FA| FnHRe14:40 KREIEF (REAEREE)
15:30 294 150.0 FA| FnHRe15:30 RENFEF (FREAERER)
16:35 294 150.0 FA| FHA@16:35 KEFEF (KRR
29t 3822.0 (13%) 1950. 0 3Z i KEC: 2080.0, PH: 5.6

FEIKECE (2040. 0 vs 4493.0) 15




FRV (ml plant-1)

ET (ml/hr/plant)

P3-15_0, Day=52 (2025-05-22)
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P3-15

RriE) | BRI (D) | EME (EA/K) | XK SRR

06:50 294 150.0 FA| 1Ri&@06:50 Bz (K AfEREEE)
07:15 294 150.0 (& =| 1Rige07:15 Bzh (GkBERSE)
07:40 294 150.0 |Z=| 1{Ri&e07:40 Bz (KRPBEEE)
09:10 294 150.0 (2 =| 1BRi%@09:10 Bz (kAFERSE)
10:05 294 150.0 |Z=| 1Ri&@10:05 Bzl (REB{EEE)
10:55 294 150.0 (Z=| 1Ri%@10:55 Bz (KREERSE)
11:40 294 150.0 (2 =| 1BRi%e11:40 Bz (kAFERSE)
12:20 294 150.0 (=] Ri%e12:20 Bz (GkBFERSE)
13:00 294 150.0 S| Ri%@13:00 B3 (REERSR)
13:40 294 150.0 RS {Ri&e13:40 Bz (REERS)
14:20 294 150.0 RS 1BRige14:20 B3h (REERESE)
15:00 294 150.0 RS Ri%@15:00 Bz (REERESR)
15:45 294 150.0 B 1Rige15:45 Bzh (REEESER)
16:40 294 150.0 RS {BRi&e16:40 B3h (REEREE)
23t 4116.0 (14%) 2100.0 329333 KEC: 2080.0, PH: 5.8

TERRHLER 2 STEELRT (191.0 :

ZRIALBRERE150. 0 ml.

150.0), AIEEHT—@ % XA HS

large discrepency for begining water status (335:48.0), set to 335 ml.

HEEIHECE (2163.0 vs 4780.0) 45




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=51 (2025-05-21)
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P3-15

BfiE) | EBIETK D) | El=E (EH/HK) | XK ERE

06:55 294 150.0 AE| 1Ri%&e06:55 H#i (RFERS)
07:20 294 150.0 |Z=| 1Ri&e07:20 Bzh (kEA{EEEE)
08:40 294 150. 0 B {BRi18e08:40 Bzh (RP{ERE)
09:30 294 150.0 BE| 1Ri%e09:30 B3 (RF{EREE)
10:20 294 150.0 RS {Rie10:20 Bzl (REERE)
11:15 294 150.0 S| {Bige11:15 Bzh (REERSE)
12:00 294 150.0 BE| Rige12:00 Bz (REAERSE)
12:45 294 150.0 Bl Rige12:45 Bal (REAEESE)
13:20 294 150.0 RS {Ri&e13:20 Bz (REERS)
13:55 294 150.0 RE| {Ri&e13:55 Baf (RFERS)
15:05 294 150.0 (Z=| 1Ri%e15:05 Bz (GkEBERSE)
16:25 294 150.0 |Z=| 1Ri&e16:25 Bzl (GRAHEESE)
249t 3528.0 (12%) 1800. 0 3ESHKEC: 2080.0, PH: 5.9

TERRHLER 2 STEELRT (191.0 :

ZRIAEBRIERE147.0 ml.

147.0), AlEEHT—RE XA HS

large discrepency for begining water status (201:39.0), set to 201 ml.
REREEBIEC (2410.0) 5% FEEC (2000.0) REKR A, HHRE

FEIKRECE (2410.0 vs 4937.0) 45




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=50 (2025-05-20)

150 A

100 A

50

VI, V¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

1800
495 1528

1378
1200 17
40 , , . , ..
Warning: lcol [FVI',| "FVO’'] missing ‘22

T
N
o
o
o

- 1000

FRV (ml d-1)

- 04

80 4 —— RH
o RH_obs
o RHo_obs
60 -\
o
40 - ‘

3 ww ® VP

| _obs
PPFD_obs

0.6 -
0.4
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.9 N
0.6 -
0.4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
300 4 - B - - 4
Bylnit @D52 01:51: ET=1873 Fg=2550.0 Ro=628.0 —
| - 3000 2
1 8
200 - ! - e o e o 3
! —e——© | 2000 =
1
'—
100 I L 1000 &
I 3
I L TN,
308; 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
== E3 ES ES == E3 ES ES == E3 ES ES == E3 ES ES == E3 ES ES == E3 ES ES
R | B5 [ B | B | AR | A5 | A5 | B | BR [ HR B B B B B B B B B B B B B B | 3000 @
1 c
ByEt @D50 18:37: ET=1674 Fg=2100. 0 Ro=nan 1 2
200 A J N
T &—@ 12000 =
' —o—o—o© =
- 1000 '€
3
300 <4 0 1 2 4 5 7 9 10 22 23 0
BB | BB | BB | BB | B | BB I|Z=| B | B | B 5 5 REFNEFEFSEFAEFIN BEFNEFIESS 3000 ©
1 c
900 A ByWon:@D52 01:51: ET=1378 Fg=1800.0 Ro=441.0 %_
<
| o—o—o—o—9o 9 | 2000 =
100 | = —o— -
. > L 1000 £
: . 3
1.01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
osl M5 | B | B |5 | M [BE | 5 [ | BE | A5 B 5 5 HEFNEFEFSEFAEFIN BEFNEFIESS
0.6 -
0.4
0.2 A
1808 3 | A




33 -

32 -

31

30 -

29 -

28 -

27

33 -

32 A

31 -

30

33 -

32 -

31 -

30

40 -

39 -

38 -

37 A

T
600

m=660,m FV0=0

T
800

T T
665 670

m=940,m FV0=0

945 950

m=610,m FV0=0

615 620

m=445, FV0=0

31 1

30 -

29 A

28 A

T T
450 455

m=710,m FV0=0

33 A

32 A

31

30 -

715 720

41 1 —@—

40 -

39 A

38 A

37 A

36

600

m=660,m FV0=0

800

40 -

39 A

38 A

660

665 670

40.

40.

39.

39.

38.

38.

37.

m=5390, FV0=0

32 -

31 -

30

29 -

28 —

——

5%5 560
m=765,n FV0=0

33 -

32 A

31 -

30 -

——

7%0 7;5
m=445,n FV0=0

39 A

38 A

37 A

36

445

460 465
m=710,n FV0=0

54

0

—0—

710

715 720

m=610, FV0=0

33 A

32 -

31 A

30 -

29 A

6%5 650
m=825,n FV0=0

33 A

32 -

31 A

30 -

850 855
m=550,n FV0=0

40 1

39 -

38 A

37 A

36 -

550

5é5 5é0
m=765,n FV0=0

41 -

40

39 -

38 A

765

770 775




m=825, FV0=0

—— MW
40 ~
39 -
38 -
T T T
825 830 835

m=940, FV0=0
4 - —o— W
40 -
39 A
38
T T T
940 945 950
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P3-15

RriE) | BRI (D) | EME (EA/K) | XK SRR

07:05 294 150.0 FA| 1Ri&@07:05 B3 (KAHEREE)
07:30 294 150.0 FA| 1Bi&@07:30 Bah (RAMERES)
07:55 294 150.0 FA| {Ri&e07:55 Bzl (kAfEEEE)
08:55 294 150.0 (2 =| 1Ri%e08:55 B (FkHBHERSE)
09:45 294 150.0 (& =| 1Ri%e09:45 Bz (kPBERESE)
10:40 294 150.0 |Z=| 1Ri%e10:40 Bzh (GREMERESE)
11:35 294 150.0 el Rige11:35 Bz (REAERSE)
12:20 294 150.0 BE| BRi%e12:20 Bz (GREAERESE)
13:00 294 150.0 S| 1Ri%e13:00 B3h (REEER)
13:40 294 150.0 RS {Ri&e13:40 Bz (REERS)
14:35 294 150.0 BS| 1Ri%e14:35 Bz CGGREMEESE)
15:25 294 150.0 S| 1Rige15:25 Bah (REEESR)
16:10 294 150.0 B 1Rige16:10 Bzh (REAEESER)
17:10 294 150.0 B Rige17:10 B3 CGREMEESE)
2i3t] 4116.0 (14%) 2100.0 329333 KEC: 2080.0, PH: 6.0

TERRHLER 2 STEEART (191.0 :

PRIAEBRIERE147.0 ml.

#H[ERECE (2580. 0 vs 5383.0) 15

147.0), AlEEHT—R % XA HS

AEREEC (2580.0) 5i%EEC (2000.0) REL KA, /T
[E&EC 5383.0 K5, iU F{KECAE&MikER




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=49 (2025-05-19)

T e g g e S S B S g

100 A

50

200 -

150 fmmmm—mmmmmm e -

100 A

50 A

1.0

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2292

1800 764
1560 450

1200

27 L 1000

80 Warning: lcol [FVI',| "FVO’'] missing 40

IR
FRV

0.8 A

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

1
Bylnit @D52 01:52: ET=1572 Fg=1914.0 Ro=381.0

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

=%z A [ | BB | i [ B | KB|[B 5 E | B | fs 5 5 5 5 5 5 5 5 =3 =

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

Z=|Za|(Z=| W | BB | [ BB | [Z=|EE(Z=| 5 [ | i | B | A5 | | s | B [ s | BB | Ris | BB [ RS

200 -

100 A

1.0 A

1
ByWoFy1@D52 01:52: ET=1450 Fg=2100.0 Ro=519.0 e © o o o |0

TR b 1000

e S aan T N S —

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

0.8

2|25 || W [ | BB | |H |27 [(25 |2z B [ | B5 | B | B | f5 [ | BE |5 | B | BE | A5 [ B

0.6

0.4+

0.2~

1808 ;

1000

500 -

—_— 4
[ ] | _obs
PPFD_obs

30 A

20 A

10 ~

80 -

60

40 ~

—— RH
(] RH_obs
[ ) RHo_obs

T
N
o
o
o

i 3000
- 2000

- 1000

T
[ =]
o
o
o

- 2000

- 1000

T
[ =]
o
o
o

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



34

33 A

32 A

31

30 -

29 -

¥

-&— M_E

T T
600 800

m=610,m FV0=0

33 A

32 -

31 A

T T
615 620

m=770,m FV0=0

33.5 A

33. 0 -

32.5 A

32.0 -

31.5 4

31.0

30.5 -

775 780

m=969,m FV0=0

34.0

33.5 A

33.0 A

32.5 -

32.0 A

31.5 A

970 975

m=450, FV0=0
32 4
31 4
30 4
29
T T T
450 455 460
m=650,m FV0=0
34 1
33 4
32 4
31 4
T T T
650 655 660
m=810,m FV0=0
33.5 -
33.0
32.5
32.0
31.5
31.0 -
810 815 820
m
43 -
—— MW
42
41 -
40 -
39 4
38
37 4 , ,
600 800

34.

33.

33.

32.

32.

31.

31.

34.

33.

33.

32.

32.

31.

31.

m=500, FV0=0

34 -

33 A

32 A

31

T T
505 510

m=685,m FV0=0

T T
690 695

m=859,m FV0=0

860 865

m=450,m FV0=0

40 -

39 A

38 A

450

455 460

m=560, FV0=0

34 A

33 A

32 -

31 -

5é5 5;0
m=730,n FV0=0

33 A

32 A

31 -

7é5 7AO
m=915,n FV0=0

34.0 A

33.5 A

33.0 A

32.5 -

32.0 A

31.5 4

31.0 -

915

950 9é5
m=500,n FV0=0

42.0 -

41.5 4

41.0 A

40.5 A

40.0 A

500

505 510




42.

41.

41.

40.

40.

39.

39.

42.

42.

41.

41.

40.

40.

m=560, FV0=0

42 -

41

40 -

39 A

—0—

M_W

560

T T
565 570

m=730,m FV0=0

——

M_W

730

T T
735 740

m=915,m FV0=0

——

M_W

915

920 925

42.

41.

41.

40.

40.

39.

39.

42.

41.

41.

40.

40.

39.

42.

42.

41.

41.

40.

m=610, FV0=0

—— MW

610

T T
615 620

m=770,m FV0=0

—— MW

770

T T
775 780

m=965,m FV0=0

—— MW

965

970 975

42.

41.

41.

40.

40.

39.

42.

41.

41.

40.

40.

39.

m=650, FV0=0

—— MW

650

T T
655 660

m=810,m FV0=0

—0— MW

810

815 820

42.

41.

41,

40.

40.

39.

42.

42.

41,

41.

40.

40.

m=685, FV0=0

—0—

M_W

685

T T
690 695

m=855,m FV0=0

—0—

M_W

855

860 865
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P3-15

AyiE) | EBIATK (FD) | EBE (BEH/HK) | XHR SRR

07:15 300 150.0 RS {Ri&e07:15 BHal (REAEHE)
07:40 300 150.0 BE| {Ri&e07:40 Bz (REERESE)
09:15 300 150.0 (Z=| 1Ri%@09:15 Bzh (RkBERESE)
10:35 300 150.0 (2 =| 1BRi%@10:35 Bz (kAFERKSE)
11:45 300 150.0 B Rige11:45 Bz (REAERE)
12:55 300 150.0 | Ri&e12:55 Bz (REERESE)
14:05 300 150.0 (Z=| 1Ri%@14:05 Bz (REERSE)
14:55 300 150.0 |Z=| 1Ri%e14:55 Bz (GREMRESE)
23t 2400.0 (8%) 1200.0 329333 KEC: 2080.0, PH: 6.0

TERRHLER 2 STEEARTF (195.0 :

ZRIALBRERE150. 0 ml.

Bl /&HECE (2660. 0 vs 5667.0) 5

150.0), FAEEHT—@ % XA HS

AEREMEC (2660.0) 5i%EEC (2000.0) RMELK KA, /T
[E&REC 5667.0 K5, i F{KECAE&FikE R




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=48 (2025-05-18)

T e g g e S S B S g

100 A

50

200 A

100 A

1.0

VI, VB@FRV, ET - VI, VO, FVI, EVO, FRV, ad jFRV, ET

1200 106

156 Warning: lcol [FVI',| "FVO’'] missing

80

— M

m

- 1500
200

524 1000

- 500

=

E
axM T 34

- 30

- 28

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

100 -

0 -
300

1
Bylnit ;@D52 01:52: ET=1525 Fg=2100.0 Ro=488.0
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= E3 E3
B B B
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200 -

100 -

0 -
300

ByEt @D48 18:57: ET=1196 Fg=1200.0 Ro=nan

— —
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14

$— 88 9#

- 2000

- 1000
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XN EFNEZS

%=

200 -

100 -

1.0 A

]
ByWon:@D52 01:52: ET=952 Fg=1200.0 Ro=326.0

g ¢ 8 ¢

- 2000

- 1000

15

16

17
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19

20 21 22

23

0.8

5 | B (2| BB | W | i | i | BB |ZR|ZE|Z5| B [ B [Z5[(%F
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ER
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XN EFNEZS

%=

0.6

0.4+

0.2~

1808 3

[ ] | _obs

—@— PPFD obs

VPD P

hour

- 32 W

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



34.

34.

33.

33.

32.

m=435, FV0=0 m=485, FV0=0 m=585, FV0=0
34 - 32 1 —— ME 34 —e— ME 34 1 —e— ME
31
33 1 33
32 1
30
32 - 32
30 1 0 -
31 31 A
28 —o— ME 28
T T T T T T T T T T T T T
400 600 800 1000 435 440 445 485 490 495 585 590 595
m=670,m FV0=0 m=740,m FV0=0 m=805,m FV0=0 m=885,m FV0=0
34 1 —— ME 34 —o— ME 34 1 —— ME —— ME
33
33 33 4 33 -
32
32 - i
32 32
31
31 31
31 1
T T T T T T T T T T T T
670 675 680 740 745 750 805 810 815 885 890 895
m=935,m FV0=0 m m=435,m FV0=0 m=485,m FV0=0
57 —o— —o— —o—
0 42 - 41 1
38 -
° 40 -
40 -
0 - 37 -
5 _ 38 N
39
0- 36 -
' 36
.5 25 38 4
935 940 945 400 600 800 1000 435 440 445 485 490 495
m=585,m FV0=0 m=670,m FV0=0 m=740,m FV0=0 m=805,m FV0=0
42 4 42.5 1 42.5 1
—— MW —— MW —— MW —— MW
42 -
42.0 1 42.0 1
41 1 i
41.5 41.5 -
7 41.0
' 41.0 1
401 40.5 -
40 - 40. 5 +
40.0 1
39 40.0 1
39.5
T T T 39 L T T T T T T 39 5 - T T T
585 590 595 670 675 680 740 745 750 805 810 815



m=885, FV0=0
—— MW

42 -
41 4
40 -
39

T T T

885 890 895

m=935, FV0=0

43.0

42.5 -

42.0

41.5 A

41.0

40.5 -

——

M_W

935

T
940

T
945




